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QUESTION 1

When following the PIACT process for managing vulnerabilities, which of the following is developed as part of the
communication step? 

A. Control frameworks 

B. Inventories 

C. Dashboards 

D. Risk analysts 

Correct Answer: C 

 

QUESTION 2

Which of the following intrusion detection systems (IDS) monitors network traffic and compares it against an established
baseline? 

A. File-based 

B. Anomaly-based 

C. Signature-based 

D. Network-based 

Correct Answer: B 

 

QUESTION 3

You are working in a functional organization and are managing the IHH Project. Your project will likely last for six
months and has a budget constraint of $1,876,000. You\\'ll be dealing with a functional manager to manage costs and
resources in the project. Who will have authority over assigning the project team members to activities? 

A. Customers 

B. Project sponsor 

C. Functional manager 

D. Team leader 

Correct Answer: C 

 

 

QUESTION 4
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Which of the following are outputs of the Direct and Manage Project Execution process? Each correct answer
represents a complete solution. Choose all that apply. 

A. Change requests 

B. Deliverables 

C. Project staff assignments 

D. Work performance information 

Correct Answer: ABD 

 

QUESTION 5

Which of the following statements are true about WPA? 

Each correct answer represents a complete solution. Choose all that apply. 

A. WPA provides better security than WEP. 

B. Shared-key WPA is vulnerable to password cracking attacks if a weak passphrase is used. 

C. WPA-PSK converts the passphrase into a 256-bit key. 

D. WPA-PSK requires a user to enter an 8-character to 63-character passphrase into a wireless client. 

Correct Answer: ABCD 
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